Quiz 5 Solutions
International Financial Management

C45.0030.001

Total points: 20

Q I. (4 points) (please answer only one of the two questions):

1. In class we have compared the cost of capital of a MNE and a pure domestic play firm. What do theory and empirical evidence say about capital structure and the cost of capital for MNE versus their domestic counterparts? 

In theory, MNE shall have a lower cost of capital (1 point). This is because of the reduced risk borne by MNE. MNE should also be able to support greater amounts of debt due to reduced variability of cash flows brought about by diversification across countries (1 point). 

However, empirical research finds that MNEs tend to use lower amounts of short and intermediate debt than do pure domestic play firms (1 point).  In addition, the cost of capital is greater for MNEs for small levels of capital budgets due to increased agency costs, political risk, exchange rate risk, and asymmetric information (1 point).

2. What is the main shortcoming of the world CAPM? How does the approach developed by Goldman Sachs, that we have discussed in class, ameliorate this problem (i.e. describe Goldman Sachs integrated and then comment on its differences as compared w/ world CAPM)?

The main disadvantage of the CAPM is the low beta that results from it – in class we saw that the empirically implied relationship between beta and expected returns is negative, which contradicts the intuition from theory! To overcome this problem Goldman Sachs integrated has adopted the following approach. In essence the method obtains the cost of equity for the company based on the CAPM model, as if the company was a US company, and then adjusts this cost of capital by the sovereign yield spread. 

In particular, first, we need to estimate the market beta of the stock in point, on S&P 500. Then, we multiply the obtained beta by the US equity premium. Finally, we add the sovereign yield spread and the risk free interest rate to obtain the cost of equity.

Q II. (4 points) (please answer only one of the two questions):

1. Your choice: please briefly describe any three of the following ADRs: level I, level II, level III, or ADR issued under Rule 144A.

In general, ADR are negotiable certificates that are created by a depository bank on underlying stock held in trust in the company’s home market. Any three of the following would be sufficient.
Level I ADR (over the counter, or pink sheet) is the one subject to minimal requirements. It is exempt from the SEC registration, and the issuer need not adhere to the US GAAP. These ADRs are for existing shares. Level II ADR is for existing shares and is traded on the NYSE, AMEX, or NASDAQ. It is subject to meeting the full registration requirements by the SEC, and subject to the US GAAP accounting requirements. Level III ADR represent new equity that is cross-listed on the NYSE and the AMEX. It requires full registration and reporting that is consistent w/ US GAAP. The fourth ADR instrument is ADRs under SEC Rule 144A. This placement is for new equity and it does not require a SEC registration. Furthermore, there is no requirement to adhere to the US GAAP for ADR 144A.
2. We have studies several alternatives to ADR in order to tap to international equity markets. Two of them include directed public share issuance and private placement under SEC rule 144A.  What are the differences between these two methods? Briefly describe each of them.

(2 points) Both methods represent directed sale of securities. They differ in that the former is a public issue while the second is a private (i.e. not for public trading) issue.
(1 point) Directed public share issuance is targeted at investors in a given country & underwritten by investment institutions from that country. The issue may/ may not be denominated in the currency of target market. The shares might not be cross-listed on stock exchange in target market. 
(1 point) Private placement under SEC rule 144A is the sale of a security to a small set of qualified institutional buyers. The securities are not registered for sale to the public.

Q III. (4 points) (please answer only one of the two questions)

1. What is meant by Eurocredit? What is meant by Eurobond? How are they different?

(2 points) Eurocredits are bank loans extended to MNE, governments, etc denominated in  Eurocurrency and extended in countries other than the country in whose currency the loan is denominated. Most Eurocredits are w/ a fixed term w/ no provision for early repayment.

(2 points) Eurobond is a publicly traded bond that is sold exclusively in countries other than the country in whose currency the issue is denominated. Eurobonds are issued by MNE, sovereign governments, etc. They are offered simultaneously in a number of different national capital markets, but not in the market of the country in whouse currency the bond is denominated.

They differ in the sense that the Eurocredit is a bank loan while the Eurobond is a traded debt instrument underwritten by un international syndicate of banks and other securities firms.

2. What is the difference between a “Eurobond” and a “foreign bond”? Please give me an example of each. What exactly is meant by “Yankee” bond?

(1 point) Eurobond is a publicly traded bond that is sold exclusively in countries other than the country in whose currency the issue is denominated. 

(1 point) For example, a Eurobond issue will be issue by Airbus (France) of a $-denominated bonds in Japan.
(1 point) Foreign bonds are bonds sold w/in country of denominated currency, however issuer is from another country.
(1 point) For example, if British Airways offers bond in the United States priced in US$, that would be a foreign bond. Yet another example of a foreign bond is the Yankee bond -- these are foreign bonds that are sold in the US.

Q IV. (4 points) (please answer only one of the two questions):

1. Hewlett Packard (US) is borrowing EUR 100,000,000 for one year at a time when the exchange rate is $1.20/EUR. The principal is to be repaid one year from now, and the interest rate is 6% per annum, paid at maturity in euros. The euro is expected to depreciate to the US$ by 5% over the course of the year. What is the effective cost of debt (in percentage interest rate terms) for Hewlett Packard? In US$ terms, how much interest and principal will HP pay at maturity?

(3 points) The effective cost of debt (in percentages) for Hewlett Packard is computed as
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, or 0.7% per annum.
(1 point) The exchange rate at maturity is expected to be $1.20/EUR * (1-0.05) = $1.14/EUR, since it is expected that the EUR will depreciate to the US$ by 5%. So, the amount to be paid by HP at maturity in US$ is 
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2. Heineken NV of the Netherlands is borrowing US$ 200,000,000 via a syndicated Eurocredit facility for 5 years at 200 basis points over LIBOR. LIBOR for the loan will be reset every six months. The funds will be provided by an investment bank syndicate, which will charge upfront fee of 2% of the principal amount. What is the effective cost of debt for the first year if LIBOR is 5% for the first six months and 4% for the second six months?

	The solution is presented below.

Initial Issuance
	Value
	
	

	Principal borrowed for five years, in US$
	$ 200,000,000
	
	

	Issuance fees
	2%
	
	

	Interest Costs
	
	First 6-months
	2nd 6-months

	LIBOR (per annum)
	
	5.00%
	4.00%

	Spread over LIBOR (per annum)
	
	2.00%
	2.00%

	Total interest cost (per annum)
	
	7.00%
	6.00%

	
	
	
	

	
	
	
	

	Calculation of the effective cost of funds
	Issuance
	First 6-months
	2nd 6-months

	
	
	
	

	Face value of syndicated loan
	$ 200,000,000
	
	

	Less fees for issuance (2% of notional principal)
	 (4,000,000)
	
	

	Net proceeds of syndicated loan
	$ 196,000,000
	
	

	
	
	
	

	Interest payment due at end of 6-month period
	
	$ (7,000,000)
	$ (6,000,000)

	(annual rate divided by 2 for 6-month period)
	
	
	

	Total interest payments in first year of loan
	$ (13,000,000)
	
	

	
	
	
	


	Effective interest cost (interest payment/proceeds)
	6.633%
	
	



Q V. (4 points) (please answer only one of the two questions):

1. Please describe briefly three major instruments used on the Euronote market. Why would Euronote instruments be cheaper than international bank loans?

Here are three major instruments used on the Euronote market: 

(1 point) Euronotes. These are short-term, negotiable, promissory notes. 

(1 point) Euro-commercial papers. These are short-term obligations of a corporation or a bank. Maturities are for one, three, & six months.

(1 point) Euro-medium term notes. These are credit facilities allowing for continuous issuance over a period of time, unlike a bond issue which is sold at once. Coupons on these instruments are paid on set calendar dates, regardless of the date of the issuance. These securities are issued in relatively small quantities.

(1 point) Euronotes are cheaper because they are placed directly with the investor public, and the securitized and underwritten form allowed the ready establishment of liquid secondary markets.

2. What is the difference between sponsored and non-sponsored ADR? In general, why is cross-listing a popular tool for tapping the foreign equity markets (give me three different reasons)?

(1 point) Sponsored ADRs are created at the request of a foreign issuer wanting its shares traded in the United States. The company needs to apply to the SEC and to a U.S. – based bank for registration and issuance. 

(1 point) If a foreign company does not seek to have its shares traded in the US, but U.S. investors are interested, then a US financial institution may initiate the issuance of the non-sponsored ADR. However, SEC still requires the approval of the foreign company itself. 

1. (2 point) Here are several reasons why cross listing would be a good tool to tap to international markets:

2. through it the investor base can be expanded;

3. through it the cost of capital can be lowered;

4. through cross-listing a higher stock price can be achieved;

5. it can be used to time sentiment in foreign stock markets.

6. it can facilitate raising new capital overseas in subsequent rounds of securities issuance.

7. it enhances the liquidity of the company’s stock trading overseas.

8. it enhances the visibility of the company’s products in the foreign market.

9. ADRs can be used to compensate local managers & employees w/ local stock.

10. ADR issuance improves on the transparency & corporate governance of the company.
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